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Ques. If the electric Field is given by 6i+3j+4k calculate the electric flux through a surface of
area 20 units lying in Yz plane
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iven the electric field in the region E = 21, find the net electric flux through the cube and the charge enclosed by it.
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Quey . Acircular plane sheet of radius 10em is placed in a uniform electric field of
5<10°N €™, making an angle of 60° with field. The electric flux through the sheet
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QHQL Consider a uniform electric field E = 3 x 103{ N/C.

(a) What is the flux of this field through a square of 10 cm on a side whose plane is
parallel to the yz plane?

(b) What is the flux through the same square if the normal to its plane makes a 60°
angle with the x-axis? Do by younself.



Quey The electric field components in Fig. are E; = a:rl-m, E, = E, = 0,inwhich
a = 800N / Cm! /2 calculate the flux through the cube
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Ifa = 0.1 m s the side of cube then the charge within the cube is:
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Ques.  Calculate the electric flux through each of the six faces of a closed cube of length 1, if
a charge q is placed (a) at its centre and (b) at one of its vertices.
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Ques .  Ahollow cylindrical box of length 1 m and area of cross-section 25 cm? is placed in a ’
three dimensional coordinate system as shown in the figure. The electric field in the L R
region is given by E = 50xi, where E is in NC™! and x is in metres. S §
Find J—m "
(i) Net flux through the cylinder. M
(ii) Charge enclosed by the cylinder. Do by Youns ol / o

Ques. A spherical Gaussian surface encloses a charge of 8.85 x 10 8¢ (i) Calculate the
electric flux passing through the surface (ii) If the radius of Gaussian surface is
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Que). Apoint charge 17.7uC is located at the centre of the cube of side 0.03 m Find the electric flux through each
face of the cube.
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Quey .  The electric field components due to a charge inside the cube of side 0.1 m are e s :

shown in figure. —0.1m—

where, E; = o, where o = 500 N/C-m, E; =0, E, = 0. : Z éé N

Calculate ng ,j///% ng

(a) the flux through the cube and / / — oy

(b) the charge inside the cube. Do b\, Yourt J&U;b 0.1_n71.




Quey.  Given auniform electric field F = 5 10°N/C, find the flux of this field through a

square of 10 cm on a side whose plane is parallel to the y-z plane. What could be the
flux through the same square if the plane makes 30° angle with the x-axis? )q by Yown ‘RQIB .



